
 

sheaesafm.cl

Concneledf Hartshorne

Lef X d ringed space a
sheafof denad's

is a sheafnor an X tageth w maps

of Abgys

Dy U x Mlu
Meal ell U

say
MCU state.f
and ca

module

9cal
meal

my

D s t t un

nesx res
res

commutes

Girl x Ml v
Tha

Remrklaltrnale.pe
te

If C any catgy
ul products

d a term Infect

then a rug input
in C is an Jet R

together ul maps



R x R to R Is R

12 12 R a
R

s a bunch of dragons
monk

rdx

12 12 12
12 12

axid f A f

Re R R
a

idx 7

R Rx
Rx R

A III

XR
R

Kid

12 12 r

id x t pex 12

Rx Rx R

Tix ITzXTh I

12 12 12 12
R

e
a X

pg x Pe
t



a rug dyed
in cat shoes aux

is a shf of nys

similarly if Ray eyed
ne ahmad heeject

is an Jet M ul maps

RxM
M MxM

E m

s t shoesof

it we think I dy as
a y.hged.inShuji

Her an dy
madoledyed esta f Ide

modules

Def A morphism of
sheaves Q

modules is

what I justsaid

ReH
t i

can take
kernels colonels quo

tents images

ay
af shoes of dy

modules

i
mane IsCinhnete



Det i f F deGare O makes then

can Ife a sheaf of de
mackles

Nama CF G
u Homo Flu Glu

a
normal
morphisms

121 if I
i d

modules

Faqs In
FlM qusGl

oops
not asheaf

med n 78 9 is the
sheaffocaton of the

presteef a
Flu

GU

R mads's Ospeep
maddes

M l ri

Dd an damale M
is five if M

OF
some N
Cpassbly

needs comm rugs
have infinite

Invanaut basis
number Ndffed

M stays sane new
reductionto sneakopens

if M is free an MCU CUT then N rank



DEI and madde M is locally be if I open

car di of X St M lui is free dxla.edu

rank of a locally free
module

module

is locally constant i e if X is
connected

nk is constant

121 An Ox
module is called inverbble if it is

locally free rank
7

t.IR xXSpcB9SmAA
zB

Suppose fix Y schemes and F shafenX

G sheaf any

fsf 1 7 a Skf Y ft Og Ox on 9

f dy Ox on X

f's f G a slat on X

if F is a staff
modules

S
dy meds f F is askf of folly

mods

th Cy danged spy

f G is a stuff f o x fit IF

f dy meds f
ftp.xfaFCNQIEWxffcttuY



b

fit is natally an dy
module offt'tun

il

vis f Fla

Og x
7 f

Tff

xid A B

it M a B mad

f dxxl.FI it's an A
mad

f G is an f dy mad

hare anap f
if Oy

d

can get an dy
mad by 0 A B

N is anA
mad

define f G f G floyd N AB is

f a B med

Quasi.com sfmdes

Red If M is an A module we detes skf

TY an SpecA as follows



Tf Df Mf Ifn Ime
M ne 25,03

is an Rf madde m

if DycDf
fi IT

natural
restratus ft Cfs'm

fin O

via Rf Ry sore k

Motrate fr Hartshorne
def i

want stalks off the
Ip Mp

know Mulu trip
i EnflfelP3

Ptu
injecte

Refine Aca
ri U

2 uMP laptop

and fr Df
ch FmeMf

at oh infitfp

Hartshorne as if Inbhdst Harbhe

flea can chase it to beat



pnopnsitm.C5ly
if Man A

module X SpecA Hey

a NT an dy mad

Mtp Mp

MTDH Mf

e Tl SpecA rt M parallels
complete

PlspaA OgreA
A

Pnnpl5

The Indu M N

R mad Edgar
meds

is exact fully
faithful and

commutes at d A

and if frSpecB Spec A
CA B

then f Nn AT

and f INT Moab



Defy A sheaf of Ox
makes Mon X is

quasi
coherent if I a cow Ui SpecAi f X

sh Mlu
NT save Ai mache Mi

We say
M is

coherent if the Mi are finley

this is the wrong
clef I

snorted

coherent

total ofMahmut if M is la finitely
gamted yeah

and HucXgen
and morphisms

oiiu rm.lu
thebowl is Iac Arg G cah

Pmp
Gr5

if A Spec A
then Mrs is an g of

cats later

A meds 9 ah 9mA nods



Ping Cs 6 P on g
ooh shes anaffes is

acediclexed

if as F F F 0 exact as

slues I

g c Oxmeds

a htt pts fogy o

and Xaffe

exact

Ping 7

kernels colours images
of morphisms

of e ah

are q.cah

b ft of qa is qe
and cah iscab

of g c is qc if f is
E c sep

or demam
solve

a Neth

kneed notbecoherent


